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HEHE A 8K 77T
av ) — L E X M Gt F HP ¢ 250mm 14. 90 23. 40 38.
N Uho R AT) = S 3 HP ¢ 250mm 13.55 22. 35 35.
H et GE R HP ¢ 250mm 12. 65 21. 40 34.
. HEE kR
EX ayy ) — N EJ A6 ¢ 250mm
B " ;
N 1RE 50Nmm2 h7—A Y 13 22
x|+
A 1R 50Nmm2 H 74 L 1 1
| E
i HP ¢ 250mm 12. 65 21. 40 34.
T | A7 Y a—a N
WET 12. 65 21. 40 34.
it
s . WHEA T 12. 65 21. 40 34.
. M AT 12. 65 21. 40 34.
% B4 ot sy L5211 3.35 4. 90
| E BT HP ¢ 250mm 0.90 0.95
& | i
g
i
# T
7%
sia Uhagg) FEAEHLO T HP ¢ 250mm 1 1
2
g BEHL O L HP ¢ 250mm 1 1
m
n EEY Y T FAF—F1L—% 2 2
JE
+ | & )
T R 5 R (B S 1
JESS
;N Sk Eft T Sy BT 1 1
2]:’% [
SR T Sy ElENR 1 1
i e
fifi e R (i PR T 1
T
% | LT




> S = I/
HERE T, HERiER (2)
al @R B A s i 80 n
M203-8-1 M203-7-1 M203-6-1
R | NEETHRNI T TAF=7" V=MSIHL | 747" V=P SEHT| 947" V=P 2HT
Ny TIRY )
AR m’ 6.8 6.9 6.9
Ny JIRY )
SR m’ - -
TR A m’ - -
w BRI HRELT
ENEA A
B L (C-170) m’ 11.9 1.8 4.9
%
+
T

R FEHOFRT m” 29.7 22.6 18.8




HEET. HEddhk (3)

T | & P X P . . -
@ | | fi H FIAE BT E' B
M203-8-1 M203-7-1 M203-6-1
GAF=7" V= hSEHL| A7 V=hSEH | 5447 V- b S at
¢ 2500 ¢ 2000 ¢ 2000
FA4F—F1L— b
s ¢ 2500 +_ ¢ 2000 m 5. 285 4.203 3.187 12. 675
FAF—71—Fh Ny 7 RY
R - B8 T GRstim ) A o T m 1.300 1. 460 1.790 (4.55)
Ny JRY
MRt m 1. 900 1.740 1.397 (5.04)
VA RNIEY Y
v s WE A - RS m 0. 685 (0. 69)
VAN 2=Y%
MR+ m 1. 400 1.003 (2. 40)
/r "
/79 T m” 3.36 2.07 147 (6.90)
\7—
|
-
%3
|
k
i FAF—FL— FMIRE m’ 6.3 6.2 6.9 20.0
= X 3
Bk A A T m 6.3 6.2 6.9 (20.0)
+- FA4F—FL— MiEL $ 2500 + ¢ 2000 m 0.915 1. 00 1.013 (2.9
Eélj
T |54 F7—FL—  ERE ¢ 2500 m 4. 585 4. 59
$ 2000 m 3. 500 2.487 5.99
K
v Ko7V —k 18-8-25BB m” 0.74 0.47 0.47 1.7
+ SAF—7 L=k
R t 1.536 1. 005 0. 782 (3.323)
- FAF—TL— P
AR Exisl t 0.140 0. 223 0. 223 (0. 586)
FAF—TL—h
A7 i 248 t 1. 396 0.782 0. 559 (2.737)
FAF—TL—h
ATy T EE t 0.124 0.014 0.013 (0. 151)
FAF—TL—h
e A s t 0.140 0.223 0.223 (0. 586)




HEET HEdfhk (4)

T ] P R T "
e ol oA b ifi # i
M203-8-1 M203-7-1 M203-6-1
A7 V=bSEHE| AP V=hSTHL | 3417 U-b s 3t
¢ 2500 ¢ 2000 ¢ 2000
i S T 1.0 1.0 1.0 3
B - TR AT ,
BE - kT BT m” 9. 00 9.00 9. 00 (27.00)
6[a]
7B ARBARA T 9m” X 6] m” - [i] 54. 00 (54. 00)
24[7]
| BB T 9m” X 24[] m* - [A] 216. 00 (216. 00)
4[e]
B LR T 9m* X 4[H] m’ - 1] 36. 00 (36.00)
# TR & FT 1.0 1.0 1.0 (3)
BT AHTER JES1303 1.0 1.0 1.0 (3)
%
i B 3000 X 1000 X 200 ¥ 3 3 3 9
1 iRk m” 9. 00 9. 00 9. 00 27.00
g t 1.683 1.683 1.683 5. 049
& Kbt t 0. 862 0. 862 0. 862 2. 586
T DAl SiES t 0. 086 0. 086 0. 086 0. 258
Lr S R t 2.545 2.545 2.545 7.635
avyy—Fh 18-8-25BB m’ 0.18 0.18 0.18 0.5
Rl m’ 1.32 1.32 1.32 4.0
S R ) T As t=15cm LA F m 12.00 12.00 12.00 36. 00
i EfEERUE L As t=15cm LAF m” 9. 00 9.00 9. 00 27.00
%
| BT T T AL m’ 0.36 0.27 0.27 1
*
T
Litd
RC-40
#Ax T t= 16 cm m” 7.98 8
RC-40
&l BT t= 10 cm m” 8. 47 8.47 17
4 TR RIAS
R £ET t= 3 cm m® 7.98 8.47 8.47 25
T | &
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R @R B A s L ¥ &
M203-8-1 M203-7-1 M203-6-1 .
3 RN
LY rR—L T 1.0 1
$ 600X ¢ 900 T-25
NILEREE H=120 il 1.0 [@D)
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R4 B M45 il 1.0 (1)
$ 900
MEY T H=100 1.0 [@D)
$ 900X ¢ 1500
TR 2 > 2 H=160 i 1.0 (1)
- | m ¢ 1500
A= H=_600 1.0 (1)
¢ 1500
HEET 0y H=2400 & 1.0 (D
¢ 1500
A= H=2400 1.0 [€))
ST
R oy 7 ¢ 1500 & 1.0 [6))]
v 7 Sk
ST T 1.0 (1)
35
FN.~ 2 R — L RRE T H=4. 375m T 1.0 €Y}
-~
HIlAL VU ¢ 150 T 1.0 (1)
Hill L VP ¢ 100 E T 1.0 1
% 2 BN = VR —IL T 1.0 1
y $ 600 T-14
NALERE H=110 HH 1.0 [€))]
$ 600
A B M45 i) 1.0 [6D)
$ 600
) T H=50 1 1.0 €Y}
- $ 600X ¢ 1200
| BBET 0 v s H=600 1.0 (€))]
$ 1200
A= H=1500 i 1.0 €Y}
¢ 1200
A= H=2400 1.0 €))
R oy 7 ¢ 1200 & 1.0 [€))]
JEH T & AT 1.0 (@))]
% 25
HST~ > AR —/VERE T H=4. 483m JES13I3 1.0 [6))]
L _
HillFL HP ¢ 250 T 1.0 (1)
HIl AL VU ¢ 150 T 1.0 [6))
T | T
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g @R B A i L ¥ n
M203-7-1 M203-6-1 .
1 BN~ VR — L i Lo '
$ 600 T-25
Nk H=110 i 1.0 (1)
$ 600
AR H M45 i 1.0 1)
$ 600
MEY T H=50 1.0 [6))
$ 600X ¢ 900
BlEET 0y 7 H=450 i 1.0 (1
il $ 900
A= H=1200 1.0 (1)
$ 900
Wik7 v v s H=1800 1 1.0 (1)
i3 A= $ 900 1.0 (1)
ST
T T 1.0 (1)
15
R A P 4T H=3. 482m T 1.0 [6D)
SR ) =
By -} 18-8-40 m” 0.05 (0. 05)
~ 2
T e m 0.19 (0.2)
HIlfL VU ¢ 150 JE51303 2.0 (2)
v
NEIE T 1.0 1.0 2
P& T ¢ 250 X200 1 1.0 [€))
¢ 150X 100 & 1.0 [¢))
N
$150X100 AU AT 1.0 (1)
€z =q=))
5 — $ 200 i 1.0 [€))
#FEHE=H)
$ 100 1.0 (1)
| (5= H)
90° fh% $ 200 1 1.0 [€))
(FEHE=H)
$ 100 1.0 1.0 (2)
7 Vv A $ 200X 4. 00m N 0.14 (0. 14)
Vi
$ 100X 4. 00m A 0. 47 0. 09 (0. 56)
IE A $ 200/ 1.0 (1)
¢ 100/ & 1.0 1.0 (2)
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M203-8-1  FsENTHT + T iOHE OE
o5l B = /N B HAL| BoE
FAF—TVL— KHL ¢ 2500
N7 YT S 2.500 2 X  x/4 m2 | 4.909
5 R 2.450 2 X 1 /4 = m2 | 4.714
PEH A 2.680 2 X  x/4 m2 | 5.641
BT L
FIEASE E T 3.000 X 3.000 X (0.800 — 0.040 ) = 6.840| m3 6.8
IAF=7" v-MEHI LB T HEIE = 6.085 m
Ny IRy VIEHEE] = 0.800 m
CL-4.OmET| W& -5+ 0.900 + 0.400 + 1. 300
I g 1 1.000 + 0.900 + = 1.900 m | 3.200
VSN GL-4. OomPAYE| WV L 6P+ 0.685 + + = 0.685
T+ 1.400 + + 1. 400 m | 2.085
(VEH - 8)
Ny IRy BV - Rt 5.641 X 1. 300 7.333
BE 1 5.641 X 1. 900 = 10.718
TNy = R o 5.641 X 0. 685 3. 864
g+ 5.641 X 1. 400 = 7.897
B 29.812| m3 29. 8
T8 HE
HRET (BE1) gl 3.000 X 3.000 X (0.800 — 0.180) = 5. 580
4.714 X( 1.500 —  0.800 ) 3. 300
PEBR| FHEET 0yl x/4X  1.140 " 2 X 0.085 -0. 087
ER x/4X  1.660 " 2 X 0.160 =  -0.346
B BE x/4X  1.600 " 2 X 1.075 -2.161
L x/4X  0.100 "2 X 0.450 = —0.004
7 6.286| m3 6.3
FEAE
HET (av7)-h) 4,714 X( 6.085 — 0.150 — 1.500) =  20.907
PebR|  HEE x/4%X  1.600 " 2 X 4.352 -8. 750
JEERR - FHEECO x/4X  1.660 " 2 X 0.110 = -0.238
HEEEE x/4X  0.360 " 2 X 0.450 -0. 046
TENE x/4X  0.165" 2 X 0.450 = -0.010
7 11.863| m3 11.9
AT 6.840 -+ 29.812 — 6.286 X 1.11 =  29.675| m3 29.7




M203-8-1 4&ffET FtEE
Nl T = /N B BV 5
HE T
EhAEY) MW T As t=4cm 3.000 X 4 = 12. 000 m 12. 00
SR EE T As t= 4cm  3.000 X  3.000 = 9. 000 m2 9. 00
m2
9.000 X 0. 040 = 0. 360 m3 0. 36
A8 IR (FHE HE) m2
AR T RC-40 t=16cm  9.000 — 1.140 2X x/4 = 7.979 m2 7.98
m2
FE T HAERIAs t=3em 9.000 — 1.140 *X x/4 = 7.979 m2 7.98
IS T| 7 A=z 8 = 0. 360 m3 0.36




M203-8-1  FFEESLHT T8 T i E &
4 &t i A BAL | B
IAF=7" V= R T FAF=7"V=h ¢ 2500
LIRS = 6.085 m
PR t= 2. 7mm = 5.500] m
= t= 2. Tmm = 0.915| m
TEiE & t= 2. 7mm = 4.585| m
JEE 2.50 X 7 = 7.854] m
TR O
IAF-7" V-
t= 2. 7mm| 1m4 Y 26.0 X 10 + 0.137 X 140 = 279.2 kg/m
t= 2. 7mm| Im*H4 Y 279.2 + 7.854 = 35.5 kg/of
FAF=7" V-hERE T
t= 2. Tmm|F% & & 5.500 m
m kg/m
AXE t= 2. 7Tmm 5.500 X  279.2 = 1.536
B 1.536| t 1.536
m kg/m
AH(WMEER 0.500 X 279.2 = 0.140 t 0. 140
SHE|FEER (747 V-b 1.536 — 0.140 = 1.396] t 1. 396
m kg/m
2597 Wz 0.415 X 279.2 = 0.116
B HMEO. 10 kg/m2 t
HEMEE n/4X  0.460°2 X 35.5 X 1 = 0. 006
TNE x/4X  0.265°2 X 35.5 X 1 = 0. 002
B 0.124f t 0.124
779 L 0.09 X mx(25 -+ 0.09 ) X 4.585 = 3.358] m® 3.36
TAF=7" V=M AR H =5y t 0. 140
FAF=7" V=B T 2.50 X 7 = 7.854] m 7.85




M203-8-1  FFEESLHT T8 T i
4 ; i A AL B
FAF—71L—F
HI T GL-4m E C|WE « kit L 1. 300 = 1. 300 m 1.300
HYE 1 1. 900 = 1. 900 m 1. 900
B 3. 200 m 3. 200
GL-4m PAE |V « Kb+ 0. 685 = 0. 685 m 0. 685
HYE 1 1. 400 = 1. 400 m 1. 400
# 2.085 m 2. 085
GL-8m LAZE|HME - kbt = m
BE+ = m
a m
A F—7L— MEHl 8T PRI E RS 5.641 nf
VAT B FREIE &
GL-1. OmE T R EEl 0.800 m
3
GL4. On T e - kiEt | 1300 m | 18091 m
s 1 1.900 m
3
L4 0~8. Om W -kt | 0685 m |11-761 m
e+ 1. 400 m
_ 3
GL-8. OmPL I YR - HstEt: m
s 1
o 7 —h 18-8-25BB 2.500 %x /4 X 0.15 = 0.736| m* 0.74
TR TR 3,000 X 1,000 X 200 bi'e 3
T 3.00 X 3.00 = m?2 9. 00
HE 9.00 X 0.187 t/m2 = t 1. 683
LT ST H-250 X 250 X 9 X 14
Mzt _
3.00 X 4 X 0.0718 t/m = t 0. 862
ZF DR 0.862 X 0.1 = t 0. 086
TR E 1.683 +  0.862 = t 2.545
a7 Y—Fh 18-8-25BB 0.30 X 0.10 X 3.00 X 2 = m3 0.18
[A]_E AR ( 0.30 + 3.00 ) X 2 X 0.10 X 2 = m2 1.32




M203-7-1  F&HESTHT + T H OB &=
5l B = /N i VAR &
FA4F—7L— BT ¢ 2000
N BT S 2.000 % X /4 m2 | 3.142
by Y 1.950 2 X x/4 = m2 | 2.986
PEH A 2.180 % X /4 m2 | 3.733
BT S
FIEA SR E T 3.000 X 3.000 X (0.800 — 0.030) = 6.930] m3 6.9
IAF=7" v-MEH 8 T HEIE = 5.003 m
INYA Y, VIEHRE] = 0.800 m
CL-4.omET| WY& -#5MEL 1.060 —+ 0.400 + = 1.460
I T+ 1.000 + 0.740 -+ = 1.740 m | 3.200
VSANEY GL-4. OmAYE|  HVEE £ H5ME:+ + + =
T+ 1.003 + + = 1.003 m | 1.003
(VEH &)
Ny BV Rt 3.733 X 1. 460 5. 450
HE 1 3.733 X 1.740 = 6. 495
TNz R o T 3.733 X
g+ 3.733 X 1. 003 = 3. 744
H 15.689| m3 15.7
ESBERS SN
HET (RC-40) gl 3.000 X 3.000 X (0.800 — 0.150) 5. 850
2.986 X (  1.500 — 0.800 ) 2. 090
PEBR| FHFET ny) x/4X  0.820 2 X 0.053 =  -0.028
e n/4X ( 0.820°2 + 1.400°2 ) /2
X 0.600 =  —0.620
[ERE x/4X  1.400 " 2 X 0.697 =  -1.073
7 6.219| m3 6.2
FEAE
HET (a/7)-}) 2.986 X (  5.003 — 0.150 — 1.5000 = 10.012
PebR|  EEE 7 /4% 1.400 " 2 X 3.203 =  -4.931
JEERR - FHEECO x/4X  1.450 " 2 X 0.150 =  -0.248
HEMERS 7 /4% 0.360 " 2 X 0.300 =  -0.031
HEEE x/4X  0.360 " 2 X 0.300 =  -0.031
TR z/4%  0.165 " 2 X 0.300 = -0.006
7 4.765| m3 4.8
AT 6.930 + 15. 689 = 22.619] m3 22.6




M203-7-1 &f%ET.  FHiAE

Nl T = . /N 5 i # &
BT

EhAEY) MW T As t= 3em 3.000 X 4 = 12. 000 m 12. 00
SHEERE T As t=3ecm  3.000 X  3.000 = 9. 000 m2 9. 00

m2
9.000 X 0. 030 = 0. 270 m3 0.27

A 1H (EEHRE) m2
BAET|  RC-40 t=10cem  9.000 — 0.820 2X g/4 = 8. 472 m2 8.47

m2
FJE T | FAERAs t=3em 9.000 — 0.820 *X x/4 = 8. 472 m2 8.47

I T A2 8] = 0. 270 m3 0.27




M203-7-1  FEESLHT T8 T i E &
4 &t i A BAL | B
IAF=7" V= R T FAF=7"V=F ¢ 2000
LIRS = 5.003| m
PR t= 2. 7mm = 4.500] m
= t= 2. Tmm = 1.000] m
TEiE & t= 2. 7mm = 3.500] m
JEE 2.00 X 7 = 6.283] m
TR O
IAF-7" V-
t= 2. 7mm| 1m4 Y 26.0 X 8 + 0.137 X 112 = 223.3 kg/m
t= 2. 7mm| Im*H4 Y 223.3 + 6. 283 = 35.5 kg/of
FAF=7" V-hERE T
t= 2. Tmm|F% & & 4.50 m
m kg/m
AXE t= 2. 7Tmm 4.50 X 223.3 = 1. 005
B 1.005| t 1. 005
m kg/m
AH(WMEER 1.000 X 223.3 = 0.223[ t 0.223
SHE|FEER (747 V-b 1.005 — 0.223 = 0.782[ t 0.782
m kg/m
2597 By X 223.3 =
B HMEO. 10 kg/m2 t
HEMEE n/4X  0.460°2 X 35,5 X 2 = 0.012
TNE x/4X  0.265°2 X 35.5 X 1 = 0. 002
B 0.014f t 0.014
779 L 0.09 X mx(200 + 0.09 ) X 3.500 = 2.068| m® 2.07
TAF=7" V=M AR H =5y t 0.223
FAF=7" V=B T 2.00 X 7 = 6.283] m 6.28




M203-7-1  FEESLHT T8 T i E &
4 i 5 X L | B
FAF =T L—|
HI T GL-4m E C|WE « kit L 1. 460 = 1. 460 m 1. 460
HYE 1 1. 740 = 1. 740 m 1.740
B 3. 200 m 3. 200
CL-4mULVE|RVE « R+ = m
HYE 1 1.003 = 1. 003 m 1. 003
#  1.003 m 1. 003
GL-8m LAZE|HME - kbt = m
g+ = m
a m
A F—7L— MEHl 8T PRI E RS 3.733 nf
VAT B FREIE &
GL-1. OmE T R EEl 0.800 m
GLod. Ok C BYRL - Mttt | 1460 m | 11916 m’
s 1 1.740 m
3
GL~4. 0~8. Om RORL - AL 574 m
s 1 1.003 m
_ 3
GL-8. OmPL I YR - HstEt: m
s 1
o 7 —h 18-8-25BB 2.000 %x /4 X 0.15 = 0.471| m® 0. 47
TR TR 3,000 X 1,000 X 200 bi'e 3
T 3.00 X 3.00 = m?2 9. 00
HE 9.00 X 0.187 t/m2 = t 1. 683
LT ST H-250 X 250 X 9 X 14
Mzt _
3.00 X 4 X 0.0718 t/m = t 0. 862
& Okt 0.862 X 0.1 = t 0. 086
TR E 1.683 +  0.862 = t 2.545
a7 Y—Fh 18-8-25BB 0.30 X 0.10 X 3.00 X 2 = m3 0.18
[A]_E AR ( 0.30 + 3.00 ) X 2 X 0.10 X 2 = m2 1.32




M203-6-1  FIEENTHT + T HOE
5l B = /N i VAR &
FA4F—7L— BT ¢ 2000
N BT S 2.000 % X /4 m2 | 3.142
by Y 1.950 2 X x/4 = m2 | 2.986
PEH A 2.180 % X /4 m2 | 3.733
BT S
FIEA SR E T 3.000 X 3.000 X (0.800 — 0.030) = 6.930] m3 6.9
IAF=7" v-MEH 8 T HEIE = 3.987 m
Ny A E 0.800 m
CL-4.omET| WY& -#5MEL 1.390 —+ 0.400 + = 1.790
I T+ 1.000 + 0.397 -+ = 1.397 m | 3.187
VSANEY GL-4. OmAYE|  HVEE £ H5ME:+ + + =
HE 1 + + m
(VEH &)
Ny BV Rt 3.733 X 1. 790 6. 682
g+ 3.733 X 1. 397 = 5.215
TNz R o T 3.733 X
g+ 3.733 X =
H 11.897| m3 11.9
ESBERS SN
HET (RC-40) gl 3.000 X 3.000 X (0.800 — 0.150) 5. 850
2.986 X ( 1.500 — 0.800 ) 2. 090
PEBR| FHFET ny) x/4X  0.820 2 X 0.052 = -0.027
e n/4X ( 0.820°2 + 1.050°2 ) /2
X 0.450 =  -0.314
[ERE 7/4X 1.050 "2 X 0.848 =  -0.734
7 6.865| m3 6.9
FEAE
HET (a/7)-}) 2.986 X ( 3.987 — 0.150 — 1.500) = 6.978
PebR|  EEE x/4X  1.050 " 2 X 2.152 =  -1.863
JEERR - FHEECO x/4X  1.100 " 2 X 0.185 =  -0.176
HEMERS 7 /4% 0.360 " 2 X 0.475 =  -0.048
TENE x/4X  0.165° 2 X 0.475 =  -0.010
TR z/4%  0.165 " 2 X 0.475 = -0.010
7 4.871| m3 4.9
AT 6.930 + 11.897 = 18.827| m3 18.8




M203-6-1 &f%ET.  FiE

Nl T = . /N 5 i # &
BT

EhAEY) MW T As t= 3em 3.000 X 4 = 12. 000 m 12. 00
SHEERE T As t=3ecm  3.000 X  3.000 = 9. 000 m2 9. 00

m2
9.000 X 0. 030 = 0. 270 m3 0.27

A 1H (EEHRE) m2
BAET|  RC-40 t=10cem  9.000 — 0.820 2X g/4 = 8. 472 m2 8.47

m2
FJE T | FAERAs t=3em 9.000 — 0.820 *X x/4 = 8. 472 m2 8.47

I T A2 8] = 0. 270 m3 0.27




M203-6-1  FFEESLHT T8 T i E &
4 &t i A BAL | B
IAF=7" V= R T FAF=7"V=F ¢ 2000
LIRS = 3.987[ m
PR t= 2. 7mm = 3.500] m
= t= 2. Tmm = 1.013] m
TEiE & t= 2. 7mm = 2.487 m
JEE 2.00 X 7 = 6.283] m
TR O
IAF-7" V-
t= 2. 7mm| 1m4 Y 26.0 X 8 + 0.137 X 112 = 223.3 kg/m
t= 2. 7mm| Im*H4 Y 223.3 + 6. 283 = 35.5 kg/of
FAF=7" V-hERE T
t= 2. Tmm|F% & & 3.50 m
m kg/m
AXE t= 2. 7Tmm 3.50 X 223.3 = 0.782
B 0.782| t 0. 782
m kg/m
AH(WMEER 1.000 X 223.3 = 0.223[ t 0.223
SHE|FEER (747 V-b 0.782 — 0.223 = 0.559 t 0. 559
m kg/m
2597 Wz 0.013 X 223.3 = 0. 003
B HMEO. 10 kg/m2 t
HEMEE n/4X  0.460°2 X 35.5 X 1 = 0. 006
TNE x/4X  0.265°2 X 35.5 X 2 = 0. 004
B 0.013[ t 0.013
779 L 0.09 X mx(200 + 0.09 ) X 2.487 = 1.470| m® 1. 47
TAF=7" V=M AR H =5y t 0.223
FAF=7" V=B T 2.00 X 7 = 6.283] m 6.28




M203-6-1  FFEESLHT T8 T i E &
4 ; i A AL B
S4F—7L—F
HI T GL-4m E C|WE « kit L 1. 790 = 1. 790 m 1.790
HYE 1 1.397 = 1.397 m 1.397
# 3.187 m 3. 187
CL-4mULVE|RVE « R+ = m
Mg 1 = m
at m
GL-8m LAZE|HME - kbt = m
g+ = m
a m
A F—7L— MEHl 8T JREI AR 3.733 nf
VAT B JREIE &
GL-1. OmE T R EEl 0.800 m
B - it E | 1,790 11897 m’
GL-4.OmE T L : n
s 1 1.397 m
GL~4. 0~8. Om RORL - AL m’
B
GL-8. OmBLIE B - Rkt m
.
o 7 —h 18-8-25BB 2.000 %x /4 X 0.15 = 0.471| m® 0. 47
TR TR 3,000 X 1,000 X 200 bi'e 3
T 3.00 X 3.00 = m?2 9. 00
HE 9.00 X 0.187 t/m2 = t 1. 683
LT ST H-250 X 250 X 9 X 14
il
HIseA 3.00 % 4 X 0.0718 t/m = t | o.862
& Okt 0.862 X 0.1 = t 0. 086
TR E 1.683 +  0.862 = t 2.545
a7 Y—Fh 18-8-25BB 0.30 X 0.10 X 3.00 X 2 = m3 0.18
[A]_E AR ( 0.30 + 3.00 ) X 2 X 0.10 X 2 = m2 1.32




M203-8-1 3 EH LY~ Ah—IL GHEE
Al N HAA] H
NAFLEEZE | 6600% 6900 T-25 H=120 FH
kA H M45 FE
EEY H=100 11
TERR 7 & » 7 | 900X ¢ 1500 H=160 |
EREET O oy H= 600 1E
H=2400 &
Wik7 v H=2400 1
JER T v v o &
JEEER T & AT
ML~ R — LR E T H=4.375m AT
HIlFL & T

B

Eln_{




M203-7-1 2 BN~ AR — L BHEE
ffE pl 3 BN /I HA] =
NFLERZ| ¢ 600 T-14 H=110 A
FEeAl ¢ 600 M45 1
Y v ¢ 600 H=50 1#
BHEET 11 7| 600X ¢ 1200 H=600 1l
EEEZ 1y 7| ¢ 1200 H=1500 1E
MEZT vy 7| $1200 H=2400 |
K7 2> 7| ¢ 1200 2
JEHD T & AT
flr~ o R LR T 2% H=4. 483m & AT
HIlFL ¢ 250 HP & Fr
¢ 150 VU @




M203-7-1 REII& T HE
i Nl G 2 . /N 5 i # &
Bl & H=  1.249 m 1. 249
PIEIE AT VU ¢ 250 X 200 1 1
BT — BE=ZND) $ 200 & 1
90° HhAE (#HEZH) ¢ 200 1 1
7 V-vIv ) A VU $ 200X 4. 00m 0.570 =+ 4.00 = 0.14 A 0.14
k84 E. ¢ 2004 & 1
Bl & H=  2.444 m 2. 444
PIBIE AT VU ¢ 150 X 100 1 1
HT— BE=ZND) ¢ 100 & 1
90° HhAE (%) ¢ 100 1 1
7 V-vIy . A VU ¢ 100X 4. 00m 1.884 + 4.00 = 0.47 A 0. 47
k84 E. ¢ 1004 & 1




I

M203-6-1 1 BHNT~ A — L B EE

E | L Y . /I i Hif % &

NFLEEZE| ¢ 600 T-25 H=110 HH 1
PR a H ¢ 600 M45 . 1
R ¢ 600 H=50 18 1
FEEZ 1w 7| 600X ¢ 900 H=450 1 1
HEEET 11 o ¢ 900 H=1200 18 1
ISt = I $ 900 H=1800 1l 1
&R 7 =y 7 ¢ 900 1l 1
JEEHB T & T 1
HNT~ R — LR T 15 H=3. 482m & T 1

i) -h | 2=} r/4 X 1.100 * X 0.055 = 0. 052 m3| 0.05

18-8-40
T T X 1.100 X 0.055 = 0. 190 m2| 0.19

HIlFL ¢ 150 VU Ehin 2




M203-6-1 RIE T EtEE
g1 T N /N & A ¥ &
s H=  0.762 m 0. 762
WEIE AT VU 150X 100 AU A% 1 1
90° Hi4E BEE=ZN) ¢ 100 & 1
7 vy R VU ¢ 100X 4. 00m 0. 344 4.00 = 0.09 A 0. 09
k4 E ¢ 1001

& 1




FREATL HERER

E &
& R ok - ~FiE | AT | M203-6-1 | M203-6-1 & 3
[N) (B)
Hl fL E RitE £ m
W+ ” 2. 590 2. 590 5. 180
HYE 1 I 1. 000 1. 000 2. 000
& B I 3. 590 3. 590 7.180
FEVE+
EANE| N=o0~14 m
N= 4~ 8 I
N= 8~15 I
W+
N= 0~10 n
N=10~30 I 0. 600 0. 600
N =30/ F I 0. 400 0. 400 0. 800
HE 1
N= 0~30 I
N =30~50 I
N=5001 k- i
& gt U 1. 000 0. 400 1. 400
FEVE+
et | N= 0~ 4 m3
)
N= 4~ 8 I
N= 8~15 I
W+
N= 0~10 n
N=10~30 I 4. 427 4. 427
N =30/ F I 2.951 4. 990 7.941
HE 1
N= 0~30 I
N =30~50 ”
N=5001 k- i
&t U 7.378 4. 990 12. 368
T+ E m 2. 590 3. 190 5. 780
KRS n 7.378 12. 474 19. 852
AR N 8 13 21
1K%Y
EAR Behs 0 89. 88 26. 85 116.73
Qs)
KEAS i 250. 51 94, 08 344. 59
= 7 U 340. 39 120. 93 461. 32




ERIAL BERESE

T4 [M203-6-1 (A)
B TA |[Z“EERA L —F— AR Ty MK - 2 ER A e
i+ wE+ B+ HRE X[
DB | L | Koo | DWW | AL | fEom [ WD W | N | KioTm | s
JBEE IEIE 0~4 | 4~8 | 8~15 | 0~10 | 10~30 | 3024 E [ 0~30 | 30~50 | 50 L [ Lo
1 1. 490 1. 490
2 0. 100 0. 100
3 0. 600 0. 600 1 0. 600
4 1.000 1. 000
5 0. 400 0. 400 1 0. 400
6
7
8
9
10
gt 2.190] 0.400 1. 000 1. 000
3.590 2. 590 1. 000
4 R I - ¥ &=
1. HIfLE
it t
WE - 2.590 m
BE 1.000 m
it = 3.590 m
2. AR
FhtEL dBH 0~4
AR A 4~8
Wiz 8~15
WEL DB 0~10
Ffr 10~30 0. 600 0.600 m
fEol- 3004 L 0. 400 0.400 m
BE L DD 0~30
AL 30~50
a7 500L |
3 = 1.000 m
3. Bk E 3.590 — 1.000 2.590 m
4. xS E TG B REL Y = 7.378 nf 7.378 X 1 T 7.378 m2
5. HIlFLASKL 7.3718 = 1.0 m2/A = 8 A 8 X 1 f&T 8 A
6. Xt t &
Rt D HN 0~4
AR 4~8
Mol 8~15
WEL DD 0~10
FOfr 10~30 0.600 X 7.378 4.427 m3
fEol- 3004 L 0.400 X 7.378 2.951 m3
BE L DD 0~30
AL 30~50
[y 5001 |
it = 7.378 m3




SEALIE [ M203-6-1 (A)

(1] BREIAE

(EHEKXZEEX FL—FI&)

V=V X (p X a)=V X qa I,V o EAE (k1)
Voo EAXSRLERE (03)
o o [HkR=ER (%)
o o FEERERE (%)
o’ T EAR (%)
M HEAARK 8 ()
T E 4 | N i |EAxSEE| E A & | FEAE [JFEAKER| E A & Gelyby) 1AY Y EAEQsUyIY
V. (m3) (m) o’ (%) RS iERE bR RS R R | R OE B R | & §F
0~ 4 28. 00 1:0
B | 4~ 8 24. 00 1:1
8~15
0~10 40.50 | 1 : 1.5
W E + | 10~30 4. 427 0.600| 40.50 | 1 : 2.5 0.512 1.281 64.00  160.13| 224.13
3084k 2.951 0.400| 31.50 | 1 : 3.5 0. 207 0.723 25. 88 90.38] 116.26
I 0~50 36.00 | 1 : 0.5
i 5081 31.50 1: 1.5
& 3 7.38 1. 000 0.719 2. 004 89.88  250.51|  340.39




ERIAL BERESE

T4 |M203-6-1 (B)
B TA |[Z“EERA L —F— AR Ty MK - 2 ER A e
i+ wE+ B+ HRE X[
DB | L | Koo | DWW | AL | fEom [ WD W | N | KioTm | s
JBEE IEIE 0~4 | 4~8 | 8~15 | 0~10 | 10~30 | 3024 E [ 0~30 | 30~50 | 50 L [ Lo
1 1. 490 1. 490
2 0. 100 0. 100
3 0. 600 0. 600
4 1.000 1. 000
5 0. 400 0. 400 1 0. 400
6
7
8
9
10
gt 2.190] 0.400 1. 000 0. 400
3.590 2. 590 1. 000
4 R I - ¥ &=
1. HIfLE
it t
WE - 2.590 m
BE 1.000 m
it = 3.590 m
2. AR
FhtEL dBH 0~4
AR A 4~8
Wiz 8~15
WEL DB 0~10
A7 10~30
fEol- 3004 L 0. 400 0.400 m
BE L DD 0~30
AL 30~50
a7 500L |
it = 0.400 m
3. Bk E 3.590 — 0. 400 3.190 m
4. XF AR BIRRFEE L Y = 12.474 nd 12.474 X 1 fEET 12.474 m2
5. HIlFLASKL 12.474 =+ 1.0 m2/A = 13 A 13 X 1 f&T 13 A&
6. Xt t &
Rt D HN 0~4
A 4~8
fEoTs 8~15
WEL DD 0~10
A7 10~30
fEol- 3004 L 0.400 X 12. 474 4.990 m3
BE L DD 0~30
AL 30~50
[y 5001 |
it = 4.990 m3




SEALIE [ M203-6-1 (B)

1] ¥®EAZE EHXZEEXIL—FIE
V=V X (p X a)=V X qa I,V o EAE (k1)
Voo EAXSRLERE (03)
o o [HkR=ER (%)
a o RiEEEER S (%)
o’ T EAR (%)
M HEAARK 13 &N)
T B A | N |[EARRERE| E N & | FEAE | FEARE | E A & Gy 1AY Y EAEQsUyIY
V' (m3) (m) o’ (%) RS iERE bR RS R R | R OE B R | & §F
0~ 4 28. 00 1:0
B | 4~ 8 24. 00 1:1
8~15
0~10 40.50 | 1 : 1.5
g + | 10~30 40.50 | 1 : 2.5
3084k 4. 990 0.400| 31.50 | 1 : 3.5 0. 349 1.223 26. 85 94.08]  120.93
I 0~50 36.00 | 1 : 0.5
i 5081 31.50 1: 1.5
& 3 4. 99 0. 400 0. 349 1.223 26. 85 94. 08  120.93




||||||||||||||




FREATL HERER

B =
& R Fofk - ~FiE | B | M203-7-1 | M203-7-1 | M203-7-1 | M203-7-1 | M203-7-1 & E
[N) (B) © ) (E)
Bl L & RitE £ m
WE+ ” 2. 260 2. 260 2. 860 2. 860 2. 860 13.100
e+ I 1. 000 1. 000 3. 300 3. 300 3. 300 11.900
& i I 3. 260 3. 260 6. 160 6. 160 6. 160 25. 000
M+
EANE| N=o0~14 m
N= 4~ 8 I
N= 8~15 I
Wyt
N= 0~10 n
N=10~30 I 0. 500 0. 500 1. 000
N=30LL I I 0. 400 0. 400 1. 000 1. 000 0. 600 3. 400
HE 1
N= 0~30 I
N =30~50 I
N=5001 k- i
= it I 0. 400 0. 900 1. 000 1.500 0. 600 4. 400
M+
et | N= 0~ 4 m3
)
N= 4~ 8 I
N= 8~15 I
Wyt
N= 0~10 n
N=10~30 I 1.059 2.631 3. 690
N=30LL I I 0. 847 0. 847 13.716 5. 262 5.578 26. 250
HE 1
N= 0~30 I
N =30~50 ”
N=5001 k- i
= it I 0. 847 1. 906 13.716 7.893 5.578 29. 940
T+ E m 2. 860 2. 360 5. 160 4. 660 5. 560 20. 600
PSESTIL n 2.117 2.117 13.716 5. 262 9. 296 32.508
AR N 3 3 14 6 12 38
1K%Y
EANRE Behs 0 19. 67 60. 67 68. 57 112. 00 32.50 203. 41
Qs)
KEAS U 69. 33 171. 33 240. 00 341. 66 113. 92 936. 24
= i I 89. 00 232. 00 308. 57 453. 66 146. 42 1229. 65




FEAGLE [ M203-7-1 (A) ]

ERIAE EHEXZEEXML—FTIH)

V=V X (p X a)=V X qa I,V o EAE (k1)
Voo EAXSRLERE (03)
o o [HkR=ER (%)
a o RiEEEER S (%)
o’ T EAR (%)

s TEAARE 3 (A)

M
H A4 | N E [EAGEE| A & | AR [ FEARR| E A& Gy 1ARY Y EAREQsUybh)

V' (m3) (m) o’ (%) RS iERE bR RS R R | R OE B R | & §F

0~ 4 28. 00 1:0

"+ | 4~ 8 24. 00 1:1

8~15

0~10 40.50 | 1 : 1.5

) H + | 10~30 40.50 | 1 : 2.5
3084k 0. 847 0.400| 31.50 | 1 : 3.5 0. 059 0. 208 19. 67 69. 33 89. 00

I 0~50 36.00 | 1 : 0.5

i 5081 31.50 1: 1.5
& 3 0. 85 0. 400 0. 059 0. 208 19. 67 69. 33 89. 00




ERIAL BERESE

T4 [M203-7-1 (A)
B TA |[Z“EERA L —F— AR Ty MK - 2 ER A e
i+ wE+ B+ HRE X[
DB | L | Koo | DWW | AL | fEom [ WD W | N | KioTm | s
JBEE IEIE 0~4 | 4~8 | 8~15 | 0~10 | 10~30 | 3024 E [ 0~30 | 30~50 | 50 L [ Lo
1 1. 160 1. 160
2 0.700 0. 700
3 1.000 1.000
4 0. 400 0. 400 1 0. 400
5
6
7
8
9
10
gt 1.860| 0.400 1. 000 0. 400
3. 260 2. 260 1. 000
4 R I - ¥ &=
1. HIfLE
it t
WE - 2.260 m
BE 1.000 m
it = 3.260 m
2. AR
FhtEL dBH 0~4
AR A 4~8
Wiz 8~15
WEL DB 0~10
A7 10~30
fEol- 3004 L 0. 400 0.400 m
BE L DD 0~30
AL 30~50
a7 500L |
it = 0.400 m
3. Bk E 3.260 — 0. 400 2.860 m
4. XF AR BIRRFEE L Y = 2.117 nd 2.117 X 1 fEET 2.117 m2
5. HIlFLASKL 2.117 = 1.0 m2/A = 3 AR 3 X 1 f&T 3R
6. Xt t &
Rt D HN 0~4
A 4~8
fEoTs 8~15
WEL DD 0~10
A7 10~30
fEol- 3004 L 0.400 X 2. 117 0.847 m3
BE L DD 0~30
AL 30~50
[y 5001 |
it = 0.847 m3




SFEALIE [ M203-7-1 (B)

(1] BREIAE

(EHEKXZEEX FL—FI&)

V=V X (p X a)=V X qa I,V o EAE (k1)
Voo EAXSRLERE (03)
o o [HkR=ER (%)
o o FEERERE (%)
o’ T EAR (%)
M HEAARK 3 ()
T E 4 | N i |EAxSEE| E A & | FEAE [JFEAKER| E A & Gelyby) 1AY Y EAEQsUyIY
V. (m3) (m) o’ (%) RS iERE bR RS R R | R OE B R | & §F
0~ 4 28. 00 1:0
B | 4~ 8 24. 00 1:1
8~15
0~10 40.50 | 1 : 1.5
W E + | 10~30 1. 059 0.500| 40.50 | 1 : 2.5 0.123 0. 306 41.00  102.00|  143.00
3084k 0. 847 0.400| 31.50 | 1 : 3.5 0. 059 0. 208 19. 67 69. 33 89. 00
I 0~50 36.00 | 1 : 0.5
i 5081 31.50 1: 1.5
& 3 1.91 0. 900 0. 182 0.514 60.67  171.33]  232.00




ERIAL BERESE

T4 |M203-7-1 (B)
B TA |[Z“EERA L —F— AR Ty MK - 2 ER A e
i+ wE+ B+ HRE X[
DB | L | Koo | DWW | AL | fEom [ WD W | N | KioTm | s
JBEE IEIE 0~4 | 4~8 | 8~15 | 0~10 | 10~30 | 3024 E [ 0~30 | 30~50 | 50 L [ Lo
1 1. 160 1. 160
2 0. 200 0. 200
3 0. 500 0. 500 1 0. 500
4 1.000 1. 000
5 0. 400 0. 400 1 0. 400
6
7
8
9
10
gt 1.860| 0.400 1. 000 0. 900
3. 260 2. 260 1. 000
4 R I - ¥ &=
1. HIfLE
it t
WE - 2.260 m
BE 1.000 m
it = 3.260 m
2. AR
FhtEL dBH 0~4
AR A 4~8
Wiz 8~15
WEL DB 0~10
Ffr 10~30 0. 500 0.500 m
fEol- 3004 L 0. 400 0.400 m
BE L DD 0~30
AL 30~50
a7 500L |
3 = 0.900 m
3. Bk E 3.260 — 0. 900 2.360 m
4. xS E TG B REL Y = 2.117 nf 2.117 X 1 T 2.117 m2
5. HIlFLASKL 2. 117 1.0 m2/A = 3 AR 3 X 1 f&T 3R
6. Xt t &
Rt D HN 0~4
AR 4~8
Mol 8~15
WEL DD 0~10
FOfr 10~30 0.500 X 2. 117 1.059 m3
fEol- 3004 L 0.400 X 2. 117 0.847 m3
BE L DD 0~30
AL 30~50
[y 5001 |
it = 1.906 m3




SFEALE [ M203-7-1 (C)

1] ¥®EAZE EHXZEEXIL—FIE
V=V X (p X a)=V X qa I,V o EAE (k1)
Voo EAXSRLERE (03)
o o [HkR=ER (%)
a o RiEEEER S (%)
o’ T EAR (%)
M HEAARK 14 &N)
T B A | N |[EARRERE| E N & | FEAE | FEARE | E A & Gy 1AY Y EAEQsUyIY
V' (m3) (m) o’ (%) RS iERE bR RS R R | R OE B R | & §F
0~ 4 28. 00 1:0
B | 4~ 8 24. 00 1:1
8~15
0~10 40.50 | 1 : 1.5
g + | 10~30 40.50 | 1 : 2.5
3084k 13.716 1.000] 31.50 | 1 : 3.5 0. 960 3. 360 68.57  240.00|  308.57
I 0~50 36.00 | 1 : 0.5
i 5081 31.50 1: 1.5
& 3 13.72 1. 000 0. 960 3. 360 68.57  240.00| 308.57




ERIAL BERESE

T4 [M203-7-1 (0)
B TA |[Z“EERA L —F— AR Ty MK - 2 ER A e
i+ wE+ B+ HRE X[
DB | L | Koo | DWW | AL | fEom [ WD W | N | KioTm | s
JBEE IEIE 0~4 | 4~8 | 8~15 | 0~10 | 10~30 | 3024 E [ 0~30 | 30~50 | 50 L [ Lo
1 1. 160 1. 160
2 0.700 0. 700
3 1.000 1.000
4 0. 400 0. 400 1 0. 400
5 2. 300 2. 300
6 0. 600 0. 600 1 0. 600
7
8
9
10
gt 1.860] 1.000 3. 300 1. 000
6. 160 2. 860 3. 300
s B i oE R % &
1. HIfLE
it t
WE - 2.860 m
BE 3.300 m
it = 6.160 m
2. AR
FhtEL dBH 0~4
AR A 4~8
Wiz 8~15
WEL DB 0~10
A7 10~30
fEol- 3004 L 0. 400 0. 600 1.000 m
BE L DD 0~30
AL 30~50
a7 500L |
3 = 1.000 m
3. Bk E 6.160 — 1.000 5.160 m
4. xS E TG B REL Y = 13.716 uf 13.716 X 1 T 13.716 m2
5. HIlFLASKL 13.716 =+ 1.0 m2/A = 14 A 4 X 1 f&T 14 A&
6. Xt t &
Rt D HN 0~4
AR 4~8
Mol 8~15
WEL DD 0~10
A7 10~30
fEol- 3004 L 1.000 X 13.716 13.716 m3
BE L DD 0~30
AL 30~50
[y 5001 |
it = 13.716 m3




SFEALE [ M203-7-1 (D)

(1] BREIAE

(EHEKXZEEX FL—FI&)

V=V X (p X a)=V X qa I,V o EAE (k1)
Voo EAXSRLERE (03)
o o [HkR=ER (%)
o o FEERERE (%)
o’ T EAR (%)
M HEAARK 6 ()
T E 4 | N i |EAxSEE| E A & | FEAE [JFEAKER| E A & Gelyby) 1AY Y EAEQsUyIY
V. (m3) (m) o’ (%) RS iERE bR RS R R | R OE B R | & §F
0~ 4 28. 00 1:0
B | 4~ 8 24. 00 1:1
8~15
0~10 40.50 | 1 : 1.5
W E + | 10~30 2.631 0.500| 40.50 | 1 : 2.5 0. 304 0.761 50.67  126.83|  177.50
3084k 5. 262 1.000] 31.50 | 1 : 3.5 0. 368 1. 289 61.33  214.83|  276.16
I 0~50 36.00 | 1 : 0.5
i 5081 31.50 1: 1.5
& 3 7.89 1. 500 0. 672 2.050] 112.00  341.66] 453.66




ERIAL BERESE

T4 |M203-7-1 (D)
B TA |[Z“EERA L —F— AR Ty MK - 2 ER A e
R A wE+ B+ HRE X[
DB | L | Koo | DWW | AL | fEom [ WD W | N | KioTm | s
JBEE IEIE 0~4 | 4~8 | 8~15 | 0~10 | 10~30 | 3084k [ 0~30 [ 30~50 | 50LLE [ L0
1 1. 160 1. 160
2 0. 200 0. 200
3 0. 500 0. 500 1 0. 500
4 1.000 1. 000
5 0. 400 0. 400 1 0. 400
6 2. 300 2. 300
7 0. 600 0. 600 1 0. 600
8
9
10
7 1.860| 1.000 3. 300 1. 500
6. 160 2. 860 3. 300
s B i oE R % &
1. HIfLE
A
WE - 2.860 m
BE 3.300 m
it = 6.160 m
2. AR
FhtEL dBH 0~4
AR A 4~8
Wiz 8~15
WE D WD 0~10
Ffr 10~30 0. 500 0.500 m
fEol- 3004 L 0. 400 0. 600 1.000 m
BE L DD 0~30
AL 30~50
a7 500L |
3 = 1.500 m
3. Bk E 6.160 — 1. 500 4.660 m
4. xS E TG B REL Y = 5.262 nf 5.262 X 1 T 5.262 m2
5. HIlFLASKL 5. 262 1.0 m2/A = 6 A 6 X 1 f&T 6 K
6. Xt t &
Rt D HN 0~4
AR 4~8
Mol 8~15
WEL DD 0~10
FOfr 10~30 0.500 X 5. 262 2.631 m3
Kol 3001 | 1.000 X 5. 262 5.262 m3
BE L DD 0~30
AL 30~50
[y 5001 |
it = 7.893 m3




ERIAL BERESE

T4 |M203-7-1 (E)
B TA |[Z“EERA L —F— AR Ty MK - 2 ER A e
i+ wE+ B+ HRE X[
DB | L | Koo | DWW | AL | fEom [ WD W | N | KioTm | s
JBEE IEIE 0~4 | 4~8 | 8~15 | 0~10 | 10~30 | 3024 E [ 0~30 | 30~50 | 50 L [ Lo
1 1. 160 1. 160
2 0.700 0. 700
3 1.000 1.000
4 0. 400 0. 400
5 2. 300 2. 300
6 0. 600 0. 600 1 0. 600
7
8
9
10
gt 1.860] 1.000 3. 300 0. 600
6. 160 2. 860 3. 300
4 R I - ¥ &=
1. HIfLE
it t
WE - 2.860 m
BE 3.300 m
it = 6.160 m
2. AR
FhtEL dBH 0~4
AR A 4~8
Wiz 8~15
WEL DB 0~10
A7 10~30
fEol- 3004 L 0. 600 0.600 m
BE L DD 0~30
AL 30~50
a7 500L |
3 = 0.600 m
3. Bk E 6.160 — 0. 600 5.560 m
4. XF AR B REL Y = 3.077 nd 3.077 X 2 T 9.296 m2
= 3.142 of 3.142 X 1 (B0
5. HIlFLASKL 3.077 = 1.0 m2/A = 4 K 4 X 2 AT 12 A&
3.142 + 1.0 m2/A = 4 K 4 X 1 (B0
6. Xt t &
Rt D HN 0~4
AR 4~8
Mol 8~15
WEL DD 0~10
A7 10~30
fEol- 3004 L 0.600 X 9. 296 5.578 m3
BE L DD 0~30
AL 30~50
[y 5001 |
it = 5.578 m3




SFEALE [ M203-7-1 (E)

1] ¥®EAZE EHXZEEXIL—FIE
V=V X (p X a)=V X qa I,V o EAE (k1)
Voo EAXSRLERE (03)
o o [HkR=ER (%)
a o RiEEEER S (%)
o’ T EAR (%)
M HEAARK 12 &N)
T B A | N |[EARRERE| E N & | FEAE | FEARE | E A & Gy 1AY Y EAEQsUyIY
V' (m3) (m) o’ (%) RS iERE bR RS R R | R OE B R | & §F
0~ 4 28. 00 1:0
B | 4~ 8 24. 00 1:1
8~15
0~10 40.50 | 1 : 1.5
g + | 10~30 40.50 | 1 : 2.5
3084k 5. 578 0.600/ 31.50 |1 : 3.5 0. 390 1.367 32.50 113.92|  146.42
I 0~50 36.00 | 1 : 0.5
i 5081 31.50 1: 1.5
& 3 5. 58 0. 600 0. 390 1.367 32.50  113.92|  146.42
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FREATL HERER

B =
& R Fofk - ~FiE | Bfr | M203-8-1 | M203-8-1 | M203-8-1 A
[N) (B) ©
Bl L & RitE £ m
WE+ ” 2.100 2.970 2.970 8. 040
g+ I 1. 000 3. 300 3. 300 7. 600
& i I 3. 100 6. 270 6.270 15. 640
FEVE+
EANE| N=o0~14 m
N= 4~ 8 I
N= 8~15 I
Wyt
N= 0~10 n
N=10~30 I
N =30/ F I 0. 400 1. 000 0. 600 2.000
HE 1
N= 0~30 I
N =30~50 I
N=5001 k- i
= it I 0. 400 1. 000 0. 600 2.000
FEVE+
et | N= 0~ 4 m3
)
N= 4~ 8 I
N= 8~15 I
Wyt
N= 0~10 n
N=10~30 I
N =30/ F I 0. 840 20. 084 4,914 25. 838
HE 1
N= 0~30 I
N =30~50 ”
N=5001 k- i
= it I 0. 840 20. 084 4.914 25. 838
T+ E m 2.700 5. 270 5. 670 13. 640
PSESTIL ot 2.101 20. 084 8. 190 30. 375
AR N 3 21 9 33
1K%Y
EANRE Behs 0 19. 67 66. 95 38.22 124. 84
Qs)
KEAS i 68. 67 234. 33 133.78 436. 78
= i I 88. 34 301. 28 172. 00 561. 62




FEAGLE [ M203-8-1 (A) ]

ERIAE EHEXZEEXML—FTIH)

V=V X (p X a)=V X qa I,V o EAE (k1)
Voo EAXSRLERE (03)
o o [HkR=ER (%)
a o RiEEEER S (%)
o’ T EAR (%)

s TEAARE 3 (A)

M
H A4 | N E [EAGEE| A & | AR [ FEARR| E A& Gy 1ARY Y EAREQsUybh)

V' (m3) (m) o’ (%) RS iERE bR RS R R | R OE B R | & §F

0~ 4 28. 00 1:0

"+ | 4~ 8 24. 00 1:1

8~15

0~10 40.50 | 1 : 1.5

) H + | 10~30 40.50 | 1 : 2.5
3084k 0. 840 0.400| 31.50 | 1 : 3.5 0. 059 0. 206 19. 67 68. 67 88. 34

I 0~50 36.00 | 1 : 0.5

i 5081 31.50 1: 1.5
& 3 0.84 0. 400 0. 059 0. 206 19. 67 68. 67 88. 34




ERIAL BERESE

T4 [M203-8-1 (A)
B TA |[Z“EERA L —F— AR Ty MK - 2 ER A e
i+ wE+ B+ HRE X[
DB | L | Koo | DWW | AL | fEom [ WD W | N | KioTm | s
JBEE IEIE 0~4 | 4~8 | 8~15 | 0~10 | 10~30 | 3024 E [ 0~30 | 30~50 | 50 L [ Lo
1 1.000 1. 000
2 0.700 0. 700
3 1.000 1.000
4 0. 400 0. 400 1 0. 400
5
6
7
8
9
10
gt 1.700] 0.400 1. 000 0. 400
3. 100 2. 100 1. 000
4 R I - ¥ &=
1. HIfLE
it t
WE - 2.100 m
BE 1.000 m
it = 3.100 m
2. AR
FhtEL dBH 0~4
AR A 4~8
Wiz 8~15
WEL DB 0~10
A7 10~30
fEol- 3004 L 0. 400 0.400 m
BE L DD 0~30
AL 30~50
a7 500L |
it = 0.400 m
3. Bk E 3.100 — 0. 400 2.700 m
4. XF AR BIRRFEE L Y = 2.101 nf 2.101 X 1 fEET 2.101 m2
5. HIlFLASKL 2.101 = 1.0 m2/A = 3 AR 3 X 1 f&T 3R
6. Xt t &
Rt D HN 0~4
A 4~8
fEoTs 8~15
WEL DD 0~10
A7 10~30
fEol- 3004 L 0.400 X 2. 101 0.840 m3
BE L DD 0~30
AL 30~50
[y 5001 |
it = 0.840 m3




SEALIE [ M203-8-1 (B)

1] ¥®EAZE EHXZEEXIL—FIE
V=V X (p X a)=V X qa I,V o EAE (k1)
Voo EAXSRLERE (03)
o o [HkR=ER (%)
a o RiEEEER S (%)
o’ T EAR (%)
M HEAARK 21 &N)
T B A | N |[EARRERE| E N & | FEAE | FEARE | E A & Gy 1AY Y EAEQsUyIY
V' (m3) (m) o’ (%) RS iERE bR RS R R | R OE B R | & §F
0~ 4 28. 00 1:0
B | 4~ 8 24. 00 1:1
8~15
0~10 40.50 | 1 : 1.5
g + | 10~30 40.50 | 1 : 2.5
3084k 20. 084 1.000] 31.50 | 1 : 3.5 1. 406 4.921 66.95  234.33|  301.28
I 0~50 36.00 | 1 : 0.5
i 5081 31.50 1: 1.5
& 3 20. 08 1. 000 1. 406 4.921 66.95  234.33|  301.28




ERIAL BERESE

T4 |M203-8-1 (B)
B TA |[Z“EERA L —F— AR Ty MK - 2 ER A e
i+ wE+ B+ HRE X[
DB | L | Koo | DWW | AL | fEom [ WD W | N | KioTm | s
JBEE IEIE 0~4 | 4~8 | 8~15 | 0~10 | 10~30 | 3024 E [ 0~30 | 30~50 | 50 L [ Lo
1 1. 270 1. 270
2 0.700 0. 700
3 1.000 1.000
4 0. 400 0. 400 1 0. 400
5 2. 300 2. 300
6 0. 600 0. 600 1 0. 600
7
8
9
10
gt 1.970] 1.000 3. 300 1. 000
6. 270 2.970 3. 300
s B i oE R % &
1. HIfLE
it t
WE - 2.970 m
BE 3.300 m
it = 6.270 m
2. AR
FhtEL dBH 0~4
AR A 4~8
Wiz 8~15
WEL DB 0~10
A7 10~30
fEol- 3004 L 0. 400 0. 600 1.000 m
BE L DD 0~30
AL 30~50
a7 500L |
3 = 1.000 m
3. Bk E 6.270 — 1.000 5.270 m
4. XF AR B REL Y = 20. 084 nf 20.084 X 1 fEET 20.084 m2
5. HIlFLASKL 20.084 =+ 1.0 m2/A = 21 A 21 X 1 f&T 21 A
6. Xt t &
Rt D HN 0~4
AR 4~8
Mol 8~15
WEL DD 0~10
A7 10~30
fEol- 3004 L 1.000 X 20. 084 20. 084 m3
BE L DD 0~30
AL 30~50
[y 5001 |
it = 20.084 m3




ERIAL BERESE

T4 |M203-8-1 (0)
B TA |[Z“EERA L —F— AR Ty MK - 2 ER A e
i+ wE+ B+ HRE X[
DB | L | Koo | DWW | AL | fEom [ WD W | N | KioTm | s
JBEE IEIE 0~4 | 4~8 | 8~15 | 0~10 | 10~30 | 3024 E [ 0~30 | 30~50 | 50 L [ Lo
1 1. 270 1. 270
2 0.700 0. 700
3 1.000 1.000
4 0. 400 0. 400
5 2. 300 2. 300
6 0. 600 0. 600 1 0. 600
7
8
9
10
gt 1.970] 1.000 3. 300 0. 600
6. 270 2.970 3. 300
s B i oE R % &
1. HIfLE
it t
WE - 2.970 m
BE 3.300 m
it = 6.270 m
2. AR
FhtEL dBH 0~4
AR A 4~8
Wiz 8~15
WEL DB 0~10
A7 10~30
fEol- 3004 L 0. 600 0.600 m
BE L DD 0~30
AL 30~50
a7 500L |
it = 0.600 m
3. Bk E 6. 270 0. 600 5.670 m
4. XF AR BIRRFEE L Y = 8.190 nf 8.190 X 1 fEET 8.190 m2
5. HIlFLASKL 8.190 = 1.0 m2/A = 9 A 9 X 1 f&T 9 A
6. Xt t &
Rt D HN 0~4
A 4~8
fEoTs 8~15
WEL DD 0~10
A7 10~30
fEol- 3004 L 0.600 X 8. 19 4.914 m3
BE L DD 0~30
AL 30~50
[y 5001 |
it = 4.914 m3




SFEALIE [ M203-8-1 (C)

1] ¥®EAZE EHXZEEXIL—FIE
V=V X (p X a)=V X qa I,V o EAE (k1)
Voo EAXSRLERE (03)
o o [HkR=ER (%)
o o FEERERE (%)
o’ T EAR (%)
M HEAARK 9 ()
T B A | N |[EARRERE| E N & | FEAE | FEARE | E A & Gy 1AY Y EAEQsUyIY
V' (m3) (m) o’ (%) RS iERE bR RS R R | R OE B R | & §F
0~ 4 28. 00 1:0
B | 4~ 8 24. 00 1:1
8~15
0~10 40.50 | 1 : 1.5
g + | 10~30 40.50 | 1 : 2.5
3084k 4.914 0.600/ 31.50 |1 : 3.5 0. 344 1.204 38.22  133.78|  172.00
I 0~50 36.00 | 1 : 0.5
i 5081 31.50 1: 1.5
& 3 4.91 0. 600 0. 344 1.204 38.22  133.78|  172.00
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